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» FYI Ta FX T [ 59 F9T-99 § JET 97 25(11+7+7) &

Please make sure that the printed question paper are contains 25(11+7+7)
questions.

° Jo7-74 7 Flled & H GHIT-R4 T4 #e TN TGS F TH F-GiawE &
FE-7% q7 @)
The Code No. and Set on. the right side of the question paper should be
written by the candidate on. the front page of the answer-book.

 FYI FI7 F TV [r@T] @ FT G e, T F HHH HAT [T

Before beginning to answer a question, its Serial Number must be written.

o FTv-YiaeE # &9 4 @il eI/ 9 T 8ig)
Don'’t leave blank page/pages in your answer-book.

o FTT-GRaH % GIfiRFET FiE o e TE A o aegmdgar & g i e
F7T 7 HC)
Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.

o GOl ST AT To FeT-UH GT Havy [rd)
Candidates must write their Roll Number on the question paper.
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FYUT 39 T § 23 4 qar @hE 78 B aam

Before answering the question, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.
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GET 7 10 714 @ 16 % Ju7 40 @ 50 I=] 7 @)

797 &I 11, 17 @7 18 7 Si<ik% & SYaes &1

General Instructions:

(Y

(i1)
(iii)
(iv)
v)

This question paper is-divided into three Parts :

Part - A : Not for Profit Organizations & Partnership Accounts
Part - B : Company Accounts & Analysis of Financial Statements.
Part - C : Computerized Accounting.

Part - A is compulsory. Candidates have to attempt any one part
from Part — B and Part - C of their choice.

All questions are to be attempted. Marks of each question are
indicated against it.

Give answer Question Nos. 1 to 6 and 12 & 13 in 15 to 20 words
and Question Nos. 7 to 10 and 14 to 16 in 40 to 50 words.

Internal choice is available in Question Nos. 11, 17 and 18.
T - A
PART - A
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(ST e O wEErd @)

(Not for Profit Organizations & Partnership Accounts)

1. THiua MR @ aoF i) 1

Explain the Endowment Fund.

2. GEERN & IO @ 9o A O Pl g% SR fomay 1

Write any one difference between Partner's Capital Accounts and
Current Accounts.

3. WERR ®H & JTeT § 1 N © 1
What is meant by Reconstitution of Partnership Firm ?
4. i i qRwm AT 1

Define Goodwill.

5. T R A 58 F oru F THAN e gL AR B W B S W
Y GERR % BY H B4 H yaS1 @ T @ de-eie U 5 S 1
'A' and 'B' are partners sharing profit & loss in the ratio of 5 : 3. 'C' is

admitted to the partnership- for %th share of future profits. Calculate

the new profit sharing ratio.

6. TEER & GUNE 9 BH & GHET § Dz P o= ey 1

Write one distinction between dissolution of partnership and
dissolution of firm.

7. 99 R T W b T g I @ a sAfaRed gEeel 8 31 REwg,
2016 H TG T & [T ‘TI-FT QAT TGR B 4

qieT § T Gl
(31 Ramr, 2016 % 775 75 )

aifer ' kil
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Y TR T 19,000 | Ia9 33,000
=T ure 66,000 | @d & GEE 40,000
EREINR I 4,000 | Y SR & ST T | 16,000

89,000 89,000

() @G T 2,000 H T, 9 2015 F ¥ 2016 FH q< 6T o
(i) a9 11 98 & & =@ T B

(i) S F FHE 31 =R, 2015 @ ° 30,000 R 31 FEF=R, 2016 & °
65,000 H & Al

From the following is the Receipts and Payment Account of a Club and
from the additional informations, prepare Income and Expenditure
Account for the year ending 31st December, 2016 :

Receipts and Payments A/c

(For the year ending 31st December, 2016)

Receipts : Payments
To Balance B/d 19,000 | By Salaries 33,000
To Subscriptions 66,000 | By Sports materials 40,000
To Interest on By Balance C/d 16,000
investment 4,000
89,000 89,000

Additional informations :

(i) The Club had received subscription in the year 2015 for 2016, °
2,000.

(i) Salaries had been paid for 11 months only.

(ii) Stock of sports materials on 31st Dec., 2015 has * 30,000 and on
31st, Dec., 2016 " 65,000.

8. T, W AN W 4:3:3% MU { AH-BIT aed gL ABRER &1 ITbl il
Tt sAs: © 1,00,000, ° 2,00,000 $R  3,00,000 %? a§ 2016 & Tt W
T 9% Al & & SF 10% afeh Rar T sasas e afafte D

4
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(5) 3608/(Set : A)
'A', 'B' and 'C' are partners in a firm sharing profits and losses in the
ratio of 4 : 3 : 3. Their fixed capitals were * 1,00,000, * 2,00,000 and
* 3,00,000 respectively. For the year 2016 interest on capital was
credited to them @ 10% instead of 9% p.a. Pass the necessary adjusting
journal entry.

W ARG 3 : 2 F oA F A A gu W B oW B e § A
R § yag fRan P o e @ @i TwE W F oremd B WH & e
H gFT © 1,05,000 f&am M s gt w4

'C' and 'D' are partners sharing profits in the ratio of 3 : 2. They admit

'E' into partnership for %th share. 'E' is unable to bring goodwill in

cash. The goodwill of the firm is valued at " 1,05,000. Give necessary
journal entry.

RUct g IO 3 @ 2 & GO § -8 Sied gU T BH F AERER 8l S
31 RE=R, 2016 F B4 & THOF & Mol fomn, o9 S Rafa foawer 59 mer
o :

FAENIT ‘ T
T @ el gREEREn | 16,000
feuelt 18,400 fafamT 4,000
TR 10,600 (29,000 | [fag I_R 2,000
fafde e 2,000 | ©® 3,000
Abe B 6,000
31,000 31,000

faf@m © 3,800 ¥ S U, A¥ FERET 39 UHR @ 99 R : W@a=l IREHEr
28,000, fafay 3I_ER ° 1,800 T e * 2,800
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FH & ATER 5% B9 A4 T HEHd & T FRE Bl de )
400 B TG G AR FHiT) 4

Dipali and Rajeshary are partners in a firm sharing profits and losses
in the ratio of 3 : 2. They decided to dissolve their firm on 31st

December, 2016, when their Balance Sheet was as under :

Liabilities ' Assets
Capital A/c : Freehold property | 16,000
Dipali 18,400 Investment 4,000
Rajeshary 10,600 | 29,000 | Sundry Debtors 2,000
Sundry creditors 2,000 | Stock 3,000
Cash at Bank 6,000
31,000 31,000

Investment were sold at * 3,800, other assets were realised as fallows :
Freehold property " 28,000; Sundry Debtors ~ 1,800 and Stock * 2,800.

Creditors of the firm agreed to accept 5% less. Expenses of the
realisation of assets amounted to * 400. Prepare a Realisation Account.

11. 31 ¥/, 2017 & ‘T R ‘& & Rufy fEier 39 91 ©

JavaIIT T

‘T FH 60,000 | €= gl 20,000
@ H G| 30,000 | FHEX 6,000
= 4l 24,000 | €% 12,000
SRER 16,000 | TR 80,000
A6 12,000

1,30,000 1,30,000

‘T IR T F AT U 2 : 181 F W A B A yaa & fow o ot

R 9eAd ¢ :
(@) ‘4" 21,000 @M REH © 9,000 AT & T q9 SR
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(b) wﬁm%wﬁﬁ‘rﬁ’wﬁw%ﬂmﬁm
(c) WM €T & 50% AT o 9 €ia e W AN & g &I
(d) WHER | 5% U @ 2
(e) ¥i® ® 10,500 X Y: Hedich fehdT TN
g @, $of @ 9 8 FH B Rl faerer tur SR
8

The Balance Sheet of 'A' and 'B' as on 31st March, 2017 is given below :

Liabilities ' Assets
A's Capital 60,000 | Freehold
property 20,000
B's Capital 30,000 | Furniture 6,000
General Reserve 24,000"| Stock 12,000
Creditors 16,000 | Debtors 80,000
Cash 12,000
1,30,000 1,30,000

'A' and 'B' share profits.and losses in the ratio of 2 : 1. They agree to
admit 'P' into the firm subject to the following terms and conditions :

(@) 'P'" will bring in ° 21,000 of which * 9,000 will be treated as his
share of goodwill to be retained in the business.

(b) 'P'is entitled to %th share of profits of the firm.

() 50% of the General Reserve is to be remain as a provision for bad
and doubtful debts.

(d) Furniture is to be depreciated by 5%.
() Stock is to be revalued at * 10,500.

Prepare Revaluation Account, Capital Accounts and Opening
Balance Sheet of the new firm.

HYAT
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OR
HERR $ g H & § I R & o9 Bl TN B b QRE HB FER
ISR EIRY 8
Explain with examples various methods of computing the share of
profits in case of death of a partner.

T -9
PART - B
(=t @ e fasi foaRett & favawon)
(Company Accounts & Analysis of Financial Statements)
12. ol @t & fsdwer & #1 & d e 1
Write any two limitations of Financial Accounting Analysis.
13. i femer fasawer & & & e fofm 1
Write any two significance of Financial Statement Analysis.
14. e & T gENE @ T AU S B 4
& = 1,00,000
fafey oFeR 1,50,000 | fifay 3R
*72,000
3 o 20,000{ HEHT :
gy Ssq
W dEE 2,000 70,000
o % fo MR 10,000 | & # {%g 15,000
6% RO 2,00,000 | % & e 1,10,000
WU g AL 3,00,000 | SFeTHi fafEeT 1,50,000
ARG e 1,35,000 | gaed &0 5,000
Calculate 'Quick Ratio' from the following informations given below :
Bank Loan 1,00,000
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Sundry Creditors 1,50,000|Sundry debtors

172,000
Bills payable 20,000(Less : provision for
Creditors for doubtful debts
expenses 10,000 2,000 70,000
Cash in hand 15,000
6% Debentures 2,00,000|Cash at bank 1,10,000

Plant & Machinery 3,00,000(Short-term investment 1,50,000

Stock in trade 1,35,000|Prepaid insurance 5,000
15. o« A9 & Nfem w® Frifg B @ 8 ar sislt & e & ufafedr S S
11 2 2 2 M U 4
() < T g,
(i) T & Tl

Write journal entries of share forfeiture when the share have been
issued at premium; when amount of premium :

(i) not received;

(ii) received.

16. SIS @ F W FHET 9 g w2 aEyH 2 7 ke 4

What are the provisions regarding issue of share at discount ? Write.

17. ‘TaE’ faftres @ ot fogr 39 uer ® -

FIEIE 1-1-16 | 31-12-16| G9fF | 1-1-16 |31-12-16
o BTST'iTrﬁ 1,00,000| 1,00,000| AHS 10,000 7,200
qH= G99 1,00,000| 1,00,000| &R 70,000 76,800
-1 @rar 96,000/ 98,000| &f®h 50,000 44,000
EISE S 72,000  82,000| q{H 40,000 60,000
Tedd I 9 RO - 40,000| Ha9 1,00,000| 1,10,000
3608/(Set : A) P.T.O.

Previous Pathshala




% T =

62,000

(10)

50,000

4,30,000

4,70,000

ENIER

1,60,000

3608/(Set : A)

1,72,000

4,30,000

4,70,000

a§ & ° 52,000 @i B G G @ qsded ) U @ smeE 1-1-16

B ° 54,000 9 31-12-16 H ° 72,000 H &1 AR Vhs YaE fGavor O)
H B 8
The Balance Sheet of 'ABC' Ltd. is as follows :
Liabilities 1-1-16 | 31-12-16| Assets 1-1-16 |31-12-16
Equity Capital 1,00,000| 1,00,000|Cash 10,000 7,200
General Reserve 1,00,000| 1,00,000|Debtors 70,000| 76,800
Profit & Loss A/c 96,000 98,000(Stock 50,000 44,000
Current Liabilities | 72,000 82,000|Land 40,000, 60,000
Loan from Associate Building 1,00,000]| 1,10,000
company = 40,000
Loan from Bank 62,000 50,000|Machinery |1,60,000| 1,72,000
4,30,000| 4,70,000 4,30,000] 4,70,000

During the year -~ 52,000 was paid as dividends. The provision for
depreciation against Machinery as on 1-1-16 was 54,000 and on 31-
12-16 " 72,000. You are required to prepare the Cash Flow Statement.

SHYqT
OR

AHe YA€ Ol IR & & GO 1 2 ? I8 Y Q9K HAr Sar B 7
EEIEO] 4, 4

What is the purpose of preparing a Cash Flow Statement ? How is it
prepared ? Explain.

18. = zamett ¥ worEl & i & 99 S gfafadr $ife ¢
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(a) 40,000, 10% 90 J&% * 10 H T W it g T RFe e
5% HifEm IR 6 S

(b) 7,000, 9% FGH UA® = 100 H 4% Hert W fFifad fpe T e
M 6% MR 9 R s

(c) 40,000, 9% FOIUH J&% * 50 H FHE W R fhw T S hem
qY T fepar S

(d) 25,000, 8% FO9H YA ° 10 & 3% HftEm W i ke e
M 2% HfERE 9 R s 2,2,2,2

Pass journal entries at the time of issue of Debentures in the following
cases :

(a) Issued 40,000, 10% debentures of * 10 each at par, redeemable at
a premium of 5%.

(b) Issued 7,000, 9% debentures of * 100 each at 4% discount and
redeemable at a premium of 6%.

() Issued 40,000, 9% debentures of 50 each at par and redeemable
at par.

(d) Issued 25,000, 8% debentures of .10 each at a premium of 3%
and redeemable at a premium of 2%.
HYqT
OR

URadT S O & MY @ STY 1 99 & ¢ oo gfaftedl ERT aHeEa
4,4

What do you mean by Redemption of Debentures by Conversion ?
Explain with the help of journal entries.

i1 -9
PART - C

(Fgelea Fuiw)

(Computerized Accounting)
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12. TR JEHEHTOT UM 6l 3899 T 1
Mention the purpose of Transaction Process System.
13. ST ST & 8 ? 1

What is data processing ?

14. FEEFA A@iHT ot @ A fadvan fofew 4

Explain the different features of Computerised Accounting System.

15. IS oiR JAfEDbe & THa 4
Explain Validation & Verification.
16. S[ISE JS+E JOTCH & ST 1§ 4
What are the uses of Database Management System ?
17. RO F71 8 ? ROE o1 & 0 al@ © 7 2,6
What is Report ? What are the methods of creating a report ?
YAl
OR
TBe’ g9 & fAR ! H Ao i 8
Explain the different methods of creating 'Query".
18. TSl T & ? T6& HMAI P A0 HiT| 2,6
What is spreadsheet ? Give its functions.
YT
OR
glesiic & IQM & au o 8

Explain the application of spreadsheet.
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